Year 11 – 2B Economics

Assessment 1: Data Interpretation

Weighting 5%

Time Allowed: 55 minutes 36 marks

Multiple Choice Questions

1) Which is the macroeconomic objective accepted as being the prime importance in recent years in Australia?

a) The control of inflation

b) Full employment

c) A high rate of economic growth

d) An efficient allocation of resources

2) A leading indicator of likely changes in the level of domestic economic activity is:

a) The unemployment rate

b) Business expectations or confidence

c) Retail sales

d) The inflation rate

3) Fill the gaps, a lagging indicator, ________________________ is one that follows the trend of economic activity, where as a co-incidental indicators, ______________________ is one that moves in line with economic activity.

a) Cash rate, unemployment rate

b) Building loan approvals, cash rate

c) Job vacancies, inflation rate

d) Unemployment rate, retail sales

4) Which of the following is an injection into the circular flow of income?

a) Savings

b) Consumer expenditure

c) Rents 

d) Exports

5) Which of the following is most likely to increase the circular flow of income?

a) A reduction in government spending

b) A reduction in taxation

c) An increase in import spending

d) A reduced investment

6) Assume the macroeconomy is in equilibrium.  If X = $50 million, S = $28 million, T = $40 million, G = $45 million and M = $42 million, the investment (I) would equal

a) $50 million

b) $45 million

c) $25 million

d) $15 million

7) How can the government increase injections into the economy?

a) Dampen economic activity through lower taxation and higher government expenditure.

b) Stimulate economic activity through lower savings and higher investment

c) Dampen economic activity through lower investment and higher savings

d) Stimulate economic activity through lower taxation and higher government expenditure.

8) The multiplier process is measured by the 

a) Amount of the initial increase in aggregate demand caused by a new injection into the economy

b) Change in GDP caused by multiple policy changes

c) Total amount by which GDP rises after an initial injection

d) Change in aggregate supply caused by an initial injection

9) Which of the following is an example of investment?

a) The purchase of a new refrigerator by a restaurant

b) Depositing money into a high interest bank account

c) The purchase of a wide-screen television by a family

d) An anti-smoking campaign funded by the government.

10) Which of the following is not primarily a factor affecting the value of C and hence AE?

a) Interest rates offered on savings accounts and charged on home mortgages.

b) Household disposable income

c) Worker productivity

d) Changes in rates of personal income tax.

11) In the five-sector circular flow model of the economy, if the value of planned leakages exceeds the value of planned injections, then

a) The level of economic activity will fall by more than the net leakage

b) The level of economic activity will fall by the amount of the net leakage

c) A new, higher level of income will be attained

d) The government will have to run a surplus budget to achieve equilibrium

12) Government spending has a similar effect on the circular flow of income as

a) Investment

b) Savings

c) Imports

d) Wages and profits.
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Section 2 – Data Interpretation - 12 marks

Question 13 (12 marks)
	Australia – Aggregate Expenditure data: 2005-06 to 2009 - 10

	
	Private consumption
	Private Investment
	Government Consumption
	Government Investment
	Exports of Goods & Services
	Imports of Goods & Services

	2004-05
	58.4
	22.0
	18.2
	3.8
	18.8
	21.3

	2005-06
	58.0
	23.3
	18.3
	4.0
	18.6
	22.1

	2006-07
	58.2
	23.9
	18.3
	4.3
	18.7
	23.5

	2007-08
	56.7
	24.6
	17.5
	3.3
	20.2
	22.3

	2008-09
	55.9
	24.5
	17.5
	3.3
	19.9
	21.1

	2009-10
	56.0
	23.6
	17.9
	4.4
	19.8
	21.7


ai)
Calculate net exports for 2009-10
(1/2 mark)

________________________________________________________________________________

________________________________________________________________________

aii)
In which year was private investment the highest. 
(1/2 mark)
________________________________________________________________________

________________________________________________________________________________

aiii)
Identify why this may be the case.





(1 mark)

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

b)
Government Spending accounts for typically 22-24% of Aggregate Expenditure.  Using the table, explain the two elements of Government spending?
(2 marks)
________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

c) Why is planned investment the most volatile component of Aggregate Expenditure?












(2 marks)
________________________________________________________________________________
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________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

b)
Using specific examples, outline factors that could affect Consumption in an economy.
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